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2. The testis of 120 minutes duration and consists of 150 | 2. ey @1 3@ 120 F7e & W@ F 150 R 787
objective type questions. Each.question carry 2 marks # | U weT ¥ T8 5 70 2 aie 2| wlE Tad
for correct answer. 0.5 marks will be deducted for each @5 3 , '

worng answer.

Test Booklet Series A-MS Test Booklet No. ﬁ
qfien R W = gfae ¥ 32 g 2 Test Booklet/Tden qfrar | w@en gfiasr wem =
o

Do not open this Test Booklet until you are asked to do so. 9

68 Wwﬁmgﬁama.ﬂﬂ?jﬁm@a‘mwmaml 3478604 =
Read cavefully the instructions on the back cover of this booklet. ; >

T T gfaar @ fiod smRe w Ry Adel @ @ 9@ %’

Allowed Time : 120 Minutes Maximum Marks : 300 8
fruifta s - 120 fime RYwaT 3% : 300 5
é D

I. The OMR Answer Sheet is inside this Test Bookler, | 1- 3. T 3R S0¥ w3@ &9 w1 JRaan & 3w 1 o v
\ When you are directed. open thetop seal of Test Booklet. el PRRIG fam T Al S9d e B GrerR ST s
take out the Answer Sheet and fill in the particulars gRa@! @t A e o sk swd Ry v RaRwr g
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L

cl2le
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Booklet. : f
5. Rough work should be done it i T ) @rd aen gt 3 2 ¥ @it JE W
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General Knowledge
Q1 Who wrote the book ‘Hind Swarsj*? QT @ e yvEw @ dww = 8 4
(A} Mohandas Karamchand Gandhi qW wvTds A -
(B) Gopal Krishna Gokhale o a0 ]
(C) Bal Gangadhar Tilak (C) o Toer Dow 9
(D) Maulana Az (D) i 3o =
Q2 Which of the following regions of Uttar Q2  oft ¥ i @ v e v B B °
Pradesh was known as “Chedi’ during Sixth #4191 9 T\ wp 2
Century B.C.? (A) §ada=s %
(A) Bundelkhand (B) 3t v
(B) Avadh () ¥ St
: (©) Ang J) s | %
) (D) Avanti %
Q3 Who was the lsst ruler of the Maurya Q3 wwE it o? ﬂ
dymasty? w . e
(A) Ashoka %
~ (B) Bindusara ¢
(C) Brihadratha /
(D) Pushyamitrs hJ
N
E Q4 In ancient India, the ashram of Bind % H wfes wmf e spem, %
Rishi was m Jamaniye, '? o1 G e SenRe B ,g’
s district . 4 e &)
' Pradesh. m) STE .
(A) Luckgiow (B) wTragR
E (B) G (’\/ (€) TR ?}
(C) Varanasi (D) ¥rarge
(D) Sitapur / i
SE Q5 King Harshyardhan established a large center QF v el A A we-fEw g
of knowledge which was cafied as ‘Bhadra- S W @ O ges de B g @
Vihar* at oy
(A) Mathura (A) wya .
(B) Kashi (B) &l =
(C) Kannauj (C) Tl 8
(D) Hardwar (D) #Rgaw e
o
Q6 Who is better known as ‘Firag Gorakhpuri” Q6 o mrd o e ey L a8 DRV %
in Urdu Poetry? ufg &7 >
(A) Dwarika Prasad (A) IR wr o
(B) Bishan Nacain (B) v sirmae v
{C) Raghupati Sahay (C) veEfe wwmr
(D) Nawa! Kishore (D) a3 fargin

1) BookarraT |



https://utkarsh.com/student-corner/pyq

e

=]

UTKARSH

—CLASSES—

el - U, SRR, WAPRIT T §6R

ATHcIlsd

Q7

Q8

Q10

Q11
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Which of the following song forms are sung
in the miny season in Uttar Pradesh?

(A) Birha

(B) Rasia

(C) Chaiti

(D) Kajri

Dewa Mela at Barabanki is held every year
in the Hindu calendar month of Kartik on
the occasion of the annual *urs® of the famous
Sufisaint .

(A) Nizamuddin Auvliva

(B) Waris Ali Shah

(C) Moinuddin Chishti

(D) Salim Chishti

Which is the first state in India to have made
roof top rainwater harvesting structure
compulsery for all the houses across the
state?

(A) Uttar Pradesh
(B) Maharashtra
(C) Tamil Nadu
(D) Karnataka

The*S lturai
farmming is
Pradesh,

{(A) Roca
{(B) Penda
(C) Dahiya
(D) Kuruwa

Which of the following books written by
[brahim Adit Shah [1 during the | 7th century
is a collection of songs in praise of Hindu
deities and Muslim sainis?

(A) Gita Govinda

(B) Kitab-e-Naveas

(C) Padshahnama

(D) Muntakhab-ul-Tawarikh

Q7

Q8

Q11

ety waer Wi & Nay § Fetatan 3
& o 9 ey g o 87

(A) fawE

(B) «Fam

(C) A

(D) s

wig it ey ... @ ufis 5 $
sy R fEg defew & == v A ol
ot arera A FJar A= At fsa anan
gl

(A) Fromsfen shfeen

(B) Mty A e

(C) wingitn R

(D) achy favh

& oo W A ool B |
w1 wuny FFad

wegde i adt @ @l il s e
. O wEA B

(A) Sran

(B) v

(C) =t

(D) FH3A

gad wd & dRE gwien e e
garyr fovelt o @ 90 Preafaftee e,
fity daenali o Aftes vt & o |
e A @ doer &7

(A) g

(B) froma—g-Tava

(C) WZeE

(D) Herama—sat- o

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

alblch

siaded 3sa1 [9PON «
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Q12 InCarnatic music, an *slpena® is similar to o/ Q12  Fatew wfia A, e Mgwnf arefi ﬁ
an in Hindustani Classical music L3110 B e T T BTN R ~
form. (A) @ (=
(A) Tarmnn (B} &1 ?
(B) Tal (C) ameny o
(C) Alap (D) fyarn =
(D) Tilana o

(@)
Q13 The Indian scientist and professor of Physics Qi3  wivehra denfrn vd A e @ e 8
read a paper on the theory of stringed o S EAN @ wFY ST e @ oy %
instruments before the Royal Society of ud 1921 # Few W Ao WS F any a
London in 1921 due to his deep love of e b I wawwel B Ryghr v o v 8t
iﬁ music, T o H
= (A) Jngd{shthm_draa;m (A) STTaYY g W19 (]
(B) Homi Jehangir Bhabha (B) ¥ wreifie sny 9
(C) C. V. Raman (C) M & e 4
(D) Vikram Sarabhai (D) famn o,
Q4 is a simple tool which is used for Q14 g R e :
~ removing weeds and for loosening the soil T sz afty fndt & dran
(A) Hoe a1 I | ¢
E’ (B) Rahat v
(C) Dhekli
) (D) Moat %
g N
Q15 Which of the following 06 Pt & 9 @ @ s 9, Gadifean g
A caused by bacteria? P & Fem e e #
(A) Measles (A) w3 hd
E (B) Polio () wifem gr
(C) Hepatitis B (C) pif2few &
(D) Typhoid (D) 35 W %
Q16 In which of the following Latin American Qi6  Fr=fafa @ @9 @ ool e ¢n
= countries did a water war happen in the year # w4 2000 # O o sngfd @ Profve @ g
2000 against the privatisation of water v 9l gg s ap
supply? (A) 3rfern
(A) Argenting (B) arfra v
(B) Brazil (C) "R =
(C) Bolivia (D) T% 8
(D) Peru o
o
Q17 The Headquarter of the Commonwealth Q17 IS W SR uEe (dowansang) o
Human Rights Initiative (CHRI) is located H JATA..... 7 feem 8 s
at__ . (A) Ha= 9
(A} London (B) s -
(B) Acera (C) =¢ fawh
(C) New Delhi (D) fra+h

(DD} Svdney
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[ QI8  Which was the first foreign destination that QIR  wuw 330 0 um Ard) A oy gEY FRA &
PM Modi chose to visit after he was sworn dre wivepy fssm fadd 2n @ du P ﬁ
in? an? ]
. {A) Bangladesh (A) TrETEm 4
(B) Nepal (B) e +
(C) Bhutan (C) 2 S
(D) Sri Lanka (D) sivela %
Q19  Which of the following countries shaures its Q19 fP=fafEs 4 & % & 29 WNaE T g
boundaries with the Indian state of Uttar Wee gaY 9 deny e e &7 a
,ﬁ Pradesh? (A) i
. (A) China (B) 9&w= 8y
o (B) Bhutan (C) Agrd H
{C) Nepal (D) afeeay [C]
(D) Bangiadesh 9
Q20 “BIMSTEC' is a sub-regional group Q20 uu-gdm e @ e i
“ comprising of seven countries of South Asia wiEor gl yRvn & 9@ 9 ]
Eg and South East Asia headquartered at forevest et O qE& %
. d
. {A) Kathmandu
A (B) New Dethi (C) 2
(C) Colombo D) e %
E’ E (D) Dhaka 6
: 1 Q21  Which of the di A Q21 fyafafem & 4 fvw @ = ety g
E i nelu ictof t anm Tl g (EEEaR) & 299 e @ ey
Capital R)? (' 4 wfva fpar Tar #7 o
(A) Sham (A) nrseh %
. (B) Aligarh (B) ey
(C) Agra (C) 3T
= (D) Mathura (D) ¥=qa
22 Which is the first indian state to ratify the 22 Wi v dad ww (Giead)) gv weda g
constitutional amendment bill on the Goods e e i Ry oo A wdwen sepafo
and Services Tax (GST)? Har ar?
(A) Uttar Pradesh (A) TR uRY =
(B) Maharashtra (B) HemNms 9
(C) Assam (C) are™ ®
(D) Bihar (D) faer o
("]
et
023 Who was the first king of the Pala Dynasty? Q23 A OEE & wdves aon @ oy o
(A) Gopal {A) murE 2
(B) Nandlal (B) e »
(C) Dharmapal (C)y =#are
(D) Devapal (D) =aure
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024
Q25
s
E Q26
E’ Q27
1
,E Q28
Q29

https://utkarsh.com/stude

An estate where n ﬂngircﬁsh Erop is grown
for sale is known as

024

(A) Sabsistence farming =
(B) Kirchen garden

(C) Jhoom cultivation
(D) Plamation farming

Which planct besides Neptune is know as
the *Blue Planet™

(A) Earth

(B) Mars

(C) Pluto

(D) Jupiter

Q25

Which of the following is NOT a noble gas?
(A) Krypton

(B} Argon

(C) Xenon

(D) Chlorine

Q26

Who is the author of the §

Why Girl™?

(A) Mahesweta Dgg |

(B) Ruskin !h-ndo
(C) Emd Blyton

(D) livia Feaser /

i 15 the founder of the Gulabi Gang -
an Uttar Pradesh and Maodbyva Pradesh based
soctal organisation which works for women
wellire and empowenment,

{A) Sanpeeta Pal Devi
(B) Sampat "al Devi
(C) Sheila Pal Devi
(D) Mishi Choudhary

Morndabad is renowned for  work
and has carved a niche for itself in the
handioraft industry throughout the world.
(A) copper

(B) brass

(C) diamond

(1IN steel

Q29

a(\" G,

nt-corner/pyq

A e el R F fae v e wea
gmmd et 8 99 ® w9 3 T
e B

(A) Prafe arf

(B) fvos wrda

(C) o &Hh

(D) dyvr s

TEE # At a9 B v ot e us
wET &7

(A) geaf)

(B) s

(C) =

(D) wpirew

it fdersg fafesy #w

F oas W &

{B) #fws doe

(C) ufSrs &rges
(D) MifEfaa wue

vy AT M0 @) w2
TR 9Sw U9 maudw § R gl
waeA & W ae wsmm o et
B¢ wrd wen By

(A) wiiren wra 26

(3) ¥ga st 2@

(Cy e me QM

() &fEr

g . 3w @
M 6 R sTawa! aqzhrr »
ST T wea ® )
(A) Hlaa
(B) iy
(C) &
(M 3

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

llelld:}

o)

b Y

siaded 3sa1 [9PON «
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Q30

Q31

Q33

234
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Which was the first country 1o aliow women
w vote?

(A) Saudi Arabin

(B) India

(C) New Zealand

(D) Russia

Which mavement in India was led by the Ali
brothers, Shaukat and Muhammad ALI7
(A) Quit India Movement

(B) Khilafit Movement

(C'y Chalo Dilli Movement

(D) Boyeott Movement

Pirt 1V of the Indian Constitution deals with

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) The Union Judiciary

(D) Parliament

C) B
(D) Cry llmc

Sardar Vanwuucl University of
Agriculture echnology (SVPUAT) s
an agricultural university at______ in the
Indian state of Unar Pradesh.

(A) Lucknow

(B) Pantnagar

(C) Meerut

(D) Saharanpur

Articke 4 of the Universal Declaration of
Humman Rights (UDHR) deals with __
(A} Freedom from Slavery

(B) Right to Education

(C) Right to Own Property

(D) Right to Marringe and Family

Q30

Q31

Alack soil is also known V i3
(A) Regur
(B) Humus

Q34

Q3s

e Fea & 3 sfea #1 gawm Al
yoefa ggm W &7

(A) HHD-—HTT

(B) =y

(C) ==

(D) &8

e A o) aged, e gd R st A
fra srgres = Ay B ar?

(A) wRa Bg! s

(B) faEmsn S

(C) =l o JeR™

(D) *fRssi snaieE

&l

aran o e e, i i s
favaRrgmera (gadniiged), e % Serwae
v B, I Rew @ PN
fwafgmag 8

(A) HEIE

(B) TWFPETR

(€) o

(D) HERAYT

s Aftiand @) aniie de (GEvas)

o ke 4 T SO0 TRV RO

fwar ey 8

(A) TATR & TET

(B) fRwn w FWHR

(C) Ao dofa T e
(D) faams vd 9Raw = s

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

alblch

BlSich BRcaIE Dpeb« R SK) «

siaded 3sa1 [9PON «
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Q36 Which Indian NGO won the 2017 United Q36 e wivfia fv sy diresw @)

Nations Development Programme’s (UNDP) nRReftHm wrh oft sy opn @
Equator Prize for promdting an ecologically defw B "o e Mo sweiea
sustainable farming model? (gusdnd) 2097 &1 g QEFN. e
(A) Smile Foundation &y war g?
{B) Prathom (A) FEE T2
(C) Swayvam Shikshan Prayvog (B) W=

' (D) Samman Foundation (C) == fEmr v

(D) W= FrASE

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

"E Q37  What does a light year measure? Q37 wwrer 9, fHae s svar 37
S (A) Distance (Ay T
s (B) Speed (B) 7fH
i (C) Encrgy (C) &
(D) Weight (D) wR
E Q38 Thecolourofthe human eyedependsonthe Q38 sy SEETQEF v Neitey @& . 4
~ pigment presentinthe  of the eye. .
E (A) Ins %e
(B) Comea
. (C) Face ~
E (D) Lens %
, 7
E v
ral Hindi %
R :
" e
¥ 039 TR aE eW aw T A aiga 41 ‘e @ e B ) H @ aren 8° %
= ahy B (A) o] e
(A) (B) 79 arey
(B) 98 (C) W& are
(C) &1 (D) fFar ureg
(D) == an wfe é
Q42  Fr=ferftra & @ s 8- -4
D40 IgE § W 8- (A) adF e
i (A) gfan (B) =11 §
(B) gaga (C) e =
(C) T (D) T= 3
(D) weysu 5

Bookarr |
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043 =0 4 y-—fam = foes 2 Q50 F=Ae & ot arem §7 ﬁ
(A) ? (A) 9 =
(8B) ! (By @ (]
€ | () = b
(D) (D) § =
g
Q44w e JERR W e R Q51 o A 91 ¥-w v o &7 o
(A) §7 '5‘"_ (A) sy -
s i (B) ¥=o@ %
'ﬁ lL) b LAl B (Cy W L(I;)
,R, (D) T=aa FTH bt %i’
Q45 ;FT'E"I s fFa avay dfn 3 Al s Q52 Prev 3 @ s we gfy &7 E
(A) Tar fo@n 3 @ 4
(B) wa for v n,
. (C) Rga= o :
Ea (D) b & %
(¢
X Q46 agd @ W v - @ fhgﬁ a1 wewem A g &7 o
(A) ®w (A) %
E’ (B) SaE (' :T:
(<)
. © e d( |
E Q47 ﬁqu 4\;\,,( Q34 Mwidfaa 1 wism 8- 4
. ) 3
(A) 10 (B) &
(B 1 (C) ¥ e i
= (€) 12 (D) B
(DY 13
, Q55  Frsfafen 4 R 8 g
048 M=faflye 8 -3 SeiEeR A8 §7 (A) Hraaen
:g: mﬂ (B) 95 é
(C) wow (C) 3
(D) T (D) gi%& e
o
049 w4 8 Sog wfy 8- Q56 ey o o) ot ' wren WY W 2 a
(A) =1 (A) @ oot >
(B) 3 (8) Pt y= E
(C) & (C) '-"Tﬁ Ha ("]
Lt (D) witwE §o

Bookarmsr | ™
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Q39
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Prefaftes o aea &~
(A) i
(B) s
() ==
(D) v

et i am s 8-
(A) "=

(B) 7™

(C) 831

(D) s

A F1 qEgErE a8 8-
(A) A

(B) ¥

(C) wfda

(D) aryg

wfes &1 fBsm -
(A) &9
{B) &2
(C) W
(D) fftea
W\)
ﬂil i

(C) ufer
(D) e

ot wen agy #oa & & iy o6 me
-

(A) 3=

(B) sy

(€) 5%

(D) qus

-l or Wl a3 arE we g
3_

(A) @&l

(B) ¥iro—aei

(C) el

Q64

Q65

Q66

T A STt 8-
(A) ¥

(B) %+

(C) *r+

(D) 9

‘Tgese # wea -
(A) 3@

(B) #¢

{C) Jree

(D) vEe

wranl o wR-fey 8-
(A) U 4 3nd

(B) ¥ +
(C)‘W

dnarut TR AT vl
\mn “at € ol g &
wan fowst & forg
aﬂaﬁt?ﬁ yrar # ad 7
!E*—m gl A a Pl w9 § o @R
AN B W W SR B T A
. U U1 T WA B g B 6T e
‘Prran! aw < ot A ap 7 ¢ T, gEw
% @ e, w6itE 1 fofs @ o e
AT R | AR W ] wa [
A & Pra-gaE gg W oaga [
d Y| W e e o @) g9an @) uE
I weE # v fam oy S i
waTE Wi § = W) e 3 ao
T 9% ¢ =R 2 W0 o e
HE 0@ sl sind @ gaw e Rang
va, e A o fam R Ra o i@
W @1 B AR | e o 8l ww
el sl @ o 2 meae eond 3 Row
wue @ g Rew R
TR AR A ey A fad g
(Q67 - Q71) & T Dfow—

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

llelld:}

o)
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Q69 T A - o
(A) poml Q4 e g

067 e a8 W@l T W9 o2 vrd fe e ot v Fle W ERA | g
(A) T ® §a9 @ oY serEh geenR frar? ﬁ
(R) farean & o A (A) TN =
(C) ofear & o= #) §@ (B) TiM 8
(D) adl fasm T & o (C) wepfy & = weam T
(D) wfeaeeh g
068  reane # wias R wEr & g‘
(A) Fam =) Q73 wgmmr REd e R o
(B) WrEaG @ (A) PR c
(C) ween (B) g | §
(D) &, ™ (C) T | sy
(D) mﬂﬂ Q g
E
4
n,

(B) =“nuii

g

(
(C) T B :
(D) Fwaadram
- Q70 ot RPR e a9 e B @ |
' (A) et o @ o QQ’ wre & qETa & o

' (B) 75 =8 ¥ &t (A dfadmen T
f (€) i (B) T T8 R
?\6 (C) wrasias yHIg

Hedf - U, AR, TAPRT 9 56R
B3|b S2H) «

(D) wrETaT qudd)
QT W af ‘m»ﬁﬂ ur? g/
)
Numerical & Mental Ability Y
: . =
Q76 A sum of money, when invested sta certain Q76 U ufll &1 9 wffe Hepglar W A T | -4
rate of compound interest per year, became fafrge v v am e omr & ot = %
1.21 times the sum invested on maturity after ar are ¢Rus e e aw Pafa oflr o
two years, What was the rate of compound 121Tﬂ$m3lﬂrﬁmﬂmmﬂ. "_6
interest per annum? aq‘ a7 7 =
(A) 1% (A) 11% ]
(B) 10.5% (B) 10.5% v
(C) 10% (C) 10%
(DY 5.9% (D) 2.9%
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Sathi and Rathin snvested some money ina
business in the ratio 6 : 5, but Sothi withdrew
her money after a few months, 1f the end-of-
twelve-months’ profit was shared between
Sathi and Rathin in the ratio 7: 10, for how
many manths did Rathin alone invest?

(A) 4

(B) 5

(C) 6

(D) 7

Samrat has an average of 51 after 11
completed innings. How much dves he need
to score before getting out in his next innings
to raise his average by another two runs?
(A) 735

(B) 7%

(C) 80

(D) 82

many people would be needed
8 days?
(A) 32
(B) 25

(C) 24
(D) 30

Two trains, Amn simultaneousty

from two stations X and Y that are 600 km
apart and cross each other at a distance of
225 km from X. If it took train B 8 hours o
complete the journey, in how many hours did
train A complete it?

|
(A) 162

3

2
(C) IS'i

|
(D) |3§

If 16 peaple can build s waliin 15 “‘S.Pq '*-3

Q77 Wit sk ww A s 5 aEE A 0
o 4 7w W @ v B At
Z© 784 D we W@ A A9 8 e |
Ry s ars S B A M7 10
& sqan A & i d9em F W e
far s, @ <fd= 5 e 28R A
fada g wr?

(A) 4
(B) 5
() 6
(D)7

11 T g8 @ B @g |ER A
5t & a9 ofwe & @ @ wE @ fay
Wcaﬂmmwﬁf&mﬁww‘n

(M 75 S

Q8

cﬂﬁﬁtaﬁﬁ*#mm
ﬂ g8 i ® fog e
a%mumrr‘rtn?
(m 12
) 25
(C) 24
(D) 30

Q80 = FH AR BT F1 A I Wy X" AR
‘YR U AT O e 8 o S
zet A eo0 Prcivitey gx & afe &v@ X
¥ 226 frariey @t h W TH-TW W
uw wet # | af 29 B @ urwm gl e
8 o€ o, B 59 AT A g w A
fasr we =

|
16—
(A) 157

3
D -
(B 127

5 2
15—
(€) 153

i H!
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Q81

QR2

Q83

Q84

The internal length, breadth and height of a
closed box are 10 cm, 8 cm and 6 cm
respectively. The total outer surface area of
the box is 592 cm’. If the walls of the box
are of uniform thickness x em, then X equals
(A) 15

(B) 125cm

{C) 1om

(D) 0.5em

7 experts and S trainees can complete & job
in 9 days while 4 experts and 15 trainees can
complete it in 12 days. How many days will
§ experts and 6 truinees need to compiete
the job?
(A) 10
(B) 12
(C) 14
(D) 15

4\’
istance W2 of the usual speed

1
At whﬁd Devender reach office on

that day”?

(A) 9: 25 am
{B) 9: 30 am
(C) 9:35 nm
(D} 9: 40 am

Select the option that is related to the first
term in the same way as the fourth term is

related 1o the third term,

EARTH : :: VENUS : XGPWU
(A) GBSUJ

(By GCTV)

(C) CYTIV)

im ovelLi

v ; . he
n thipd of 6
Qn of the usual & ¢
d

QR

Q82

42 W @ wiole Fad, deg AN
FaR o 16 8dey, 8 S8y v e
#orer & ¥ B aed R T w7
sraFE 592 Ve 3| Aft diww & dan
v g eE x F8fiet A & W xw
wE 87

(A) 1.8 Tl

(8) 125 T

() | A=

(D) 0,5 Shfey

7 Rirm afiv 5 witey 9 37 ® o

# g e W § wis 4 i i
aftrg &9 12 B A g & w0 R
fadres alie o Wity ¥ & o R
el e ey

Al

14
15

3 dol GWE 800 & W W P

QB4

g30 wol wvaiea wguar #1
TE JE ER 800 T ST AfE

i 2 e o e 5 @

gt 1 A g o S AR 8

nft ¢ gf F A o Ra e
Fratea gEar

(A) 9: 25 am

(B) 9:30am

(C) 9:35am

(D) %: 40 am

o fassy o 979 & @ BE TE 9
R Harn & fre gar den ue O
& wat 2

EARTH: = VENUS:XGPWU !
(A) GBSUJ
(B) GCTV)
{C) CYTV)
(D) CYPU)

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

BUESIch RROIE 3eh «

siaded 3s9] [9PON «



https://utkarsh.com/student-corner/pyq

=]

UTKARSH

—CLASSES—

e

ATHcIlsd

el - U, SRR, WIPRIT T §6R

ne e e Q85  Seciect the word pair frum the shemutives in Q85 Mg w Mt o g He—-gmw i fored
Bt a6 which the words are similarly related as they = o wH T & R mrr a fav
m; Fd are in the given wond pais m oveE-gm 4 gy ‘ \
e & dad | . - 1z R
BF Profit : Loss L
J (A) Breadth | Widih (A) 3w e
(B) Surplus : Deficit (B) sy - e
(C) Viable : Feasible (C) =g« Fm
(D) Vacant : Empry (D} &=t - R
| IR Q86 Select the option that is reluted to the third Q86 =% e & 9o =7 o) dred g 3
NGB term in the same way bs the second term is v Walan & e gew g9 U2 q5d U
(e related to the first term W wnlenr 8
Lt fver e Gold ; Necklace = frop T g - S
YO o EFe SV el b
(B) Ribbon
(C) Book
(D) Bucket /
b"ﬁ B 2 Q87 CLENTSI' s 10 "DLOU” as ‘GBYr ‘l.l’i?\ﬁ"ﬂ TS DLOU” 8, 24 g
W& vs @ LT % 1 |
{B} ALLMS /
R (B) ALLMS
ﬂ") AFT (C) AF1
i 4 J
p’lﬁl X : :ﬁ {D} HINT
B fame) af 088 ilAG‘HIn'FED ISt QS8 . “BAG’ 7 7t/ *FED’ & 38 55 'GOD’
(A) KSA I "o 'R
| (B) LSA (A) KSA
| (C) KSB (B)*LSA
(D) LSA (C) K88
i (D) LSB
Fd 9T & 9 P L .
bz vt o LETTER' i 40 ‘NGVVGT" us ‘ZERO' is Q89 LETTER' @7 #oee ‘NGVVGT' & 77
to* ' NI “ZERO' &1 Woew ... "B
I XGPWU (A) XGTO (Al XGTO
8) ZG10 (B) ZGT0
(C) BGTQ {C) BGTQ
(D) BHUP () BHLIP

BooksrTdT |
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Papaya, Apple, Guava
{A) Pear

(B) Poumto

{C) Brinjal

(D) Pumpkin

Determine the missing number.
346913 ____.24

(A) 20

(B) 19

) 17

(D) 18

What will be the 8th number in the following
sequence?
12,34, 78, 1516,
(A) 256257
(B) 5356

(C) 5657

(D) 253256

What will be the nextn
sequence?

100, 121, 144,
(A) 19
(B} 196
(C) 194
(D) 192

What will be the 11th letter in the following
seguence”

A, CE,

(A) X

(B) W

<y v

(D) L

What will be the Tth number in the following
sequence?

3,6,12,24,

{A) 96

(B} 144

(C) 192

(D1 288

Q91

I\

Qo4

o, ¥R, WTee ‘
(A) AT
(B) ST
(C) e
(D) =g

sty wa Petfa ot
346913 . 24
(A) 20

(B) 19

(C) 17

18

Frerfafin arpen A off viem $F A gofi?
12, 34, 78,

e aFpsa A Sl T 3 W
#?
100, 121, 144, 169, 7
(A) 198
(B) 196
(C) 194
(D) 192

'ow

=i s=pms 1 s ol @ g7
o

(A) X '
(B) W |
(€) Vv

(D) U

Fstfories srqs 3 rdl e @ & sei?
3.6,12.24, -« '
(A) 9%
(B) 144
(C) 192
(D) 288

BUESIch RROIE 3eh «

il o WS

n

L)
(c
o
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- 96 IFTIME = 209135, theti CLOCK = 2 Q9% @R TIME
(A) 31215314
(B) 3121551}
(C) 31215314
(D) 31913311

= 209135, 1 CLOCK =9
(A) 31218314
(B) 31215511
(€ 31215314
(D) 3191531

L Q97 If Sheena is 40 m towards South-Wes) of Q97 g B vy @ ew-aidan o s 40

Teena, and Reena is 40 m towsards South.. e B g% v kB e @ efey- g

East of Sheena, then Reena is in which ot N2 40 Ay 09 3, fee S S
direction with respect to Teena? @ e B faon g

(A} North-Fast {A) Bar-ga 4 2’473"
(B) East (B) ¥ +
(C) West (C) ulrem

(D) South
&t el

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

WAPRTA 9 §ER

098 BisslandingEkmh)rb:Wcs:ofA.Crt
i

standing | km to the North of B and 2 km tn 2 1 o
; the East of D, E is standing 4 ke 10 the South ¥ P 2IE.D# afivy 3

; of Dand 5 km to the West of F. Iy whic a :mﬁ'« F b uftnn 4 5 Ry
. direction is F with respect 1o A7 B ¥ A D ate F %% fawn & #7
l )

alblck

B3|k 52K «

SIUQR, SR,

(A) North-Egst Ca Ny ;
e & | (B) East 6 ) o
J | (C) South-East P (C) TR -
E ! (D) South \, (D) = g,
0% CmsidutlwcitQ - sﬁxmﬂ Q99 R 7y et a¢ (LR T Ern— %
E [ decide which of the ing conclusions L e R T BY ¥g o7
. togically follow(s) from the tWo given B B O S R CREWE
) statements, disregarding commonty known T W STy Wy @ T ST 24 g
lacty, &y
Statements U 5P qoe =
| Some hens are ducks ol wT w8 -4
' All the ducks are pigeans, g, %
Conchusions: I %5 affm aqoe &) ]
l I Some hens ure pigeons, I %% Fqw wra T
b2 | IL. Some pigeons are ducks (A) BaF Bt | wrer wear Bl 9
(A) Only conclusion I follows. (B) @3 Fwmd 0 avgs ey @) @
(B) Only conclusion If follows. (C) 37 Fremd | aft o @) P R T
(C) Neither conclusion T nor I follows. Y 2

(OF Both conclusions I and It follow. (D) PYept 1 afte Brusd 1 sk o e
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Q00 Consider the given statement und the
following nssumptions 1o be trze and decide
which of the assumptions is/are implicit in
the staterment,

Statement;

Snve water, save the earth.

Assumptions:

|, Eash saves us from denger

. Water is colourless

(A} Only assumption | is implicit.

{8) Onlyassumption || is implicit,

(C) Neither assumption | nor 1 is implicit.
(D) Both assumptions [ and 1§ are implicit.

Q101 Consider the given statement and the
following assumptions to be true and decide
which of the assumptions is/are implicit in
the statement.

Statement.

Group discussion is good to develop

communication skills

Assumptions:

I. Teachers must arrange for grosip
discussion in the class.

11 &5 Dt
(I}) Both pssumptions implicit,
Q102 Which of the following is NOT a prime

number?

(A) 14

(B} 1301

(C) 1601

(D) 181

Q103  Sclect the most appropriate option 10 solve
the equation.
90 +6 x(24 . § +4) +3=
(A) 18
(B) 20
!
(© 1y
(b 16

£,

QIo0 ¥y w1y P ¥ Preafates aromsd @
Wit sl 9 v o 5 e 4 A @
R /S aRreen & /8
A
e, gedl @) dan)
et
I gef) off et 9 = 8
i gri ¥ 8
(A) daa g | s &

(B) waq W 1) sfafEa #)

(C) =t o s [ = & uwen || sl
L4

(D) s | site sreen 1Sl FAFRBT B

QI fey ay wyw 3R =i aoers @@
wfl sl afe | SR Rl o
Qe L/ IO e 2 /81

ot @ iy g g

ﬂ%ﬂﬂfﬂ?mm
il 11
l_@‘m w &) s wE A e

1
6 Va1 R wirw =Ry
(A) Hae arw | safifee &)
(B) Waw s 11 s 81
(Cy 71 o g 1S @ e 1 SafifRe
g
(D) =een 1 3iR sowen (| S simftea #)

Q02 = 9 ol annog dWam e 87
(A) 1001
(B) 1301
(C) 1601
(D) 1901

Q103 whwT F) FF T & By wed uge
fawey @ ¥ |
90 <6 x(24-8 +4) +])=
(A) 18 ¢
(B) 20

(C h-l-
C) 2

(D) 16

QIed

Qs

Q106 1

|
y

QU7 T
{4
(£
<
(L

QI T

(A

(8
o
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|
&
m 1 SR
§ amfiiEs ®1

& arvel] &
el & b i

=
=

frg e o

& fore aemen
F & arer Wl

4
B

1 SR
ot sofifRa #1

= e 87
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Q104  Select the most appropriate option to solve
the equation.
I35x12=
(A) 18.06
(B) 18.6
(C) 1.86
(D) 1860
Q105 Select the most appropriate option to solve
the equation.

11 56

N P

8 33

1
(A) 33
B) 7=
9 73

(C) 3=

(D) 2

The HCF of 52 |
M 13

[(}
(D)2

ul— | -

2106

Q107 The LCM of 52, 78and 156 is
(A) 156
(B) 312
(C) 234

(D) 468

QUG8 The monthly savings-expenditure ratio of
Mrs Singh's family was 3 ; 8. Ina month in
which the family's income was T 27,500, the
savings would have been T

(A) 7,075

(B) 7,500

(€) 10312.50

@2

QI04 FARBI™ @1 oe W b ToQ el augan

R @1 a4 |
IS3x12~
{A) 18.06
(B) 186

(C) 1.86

(D) 1860

105
I 56

RAEwg o) i) — ==
’ 8 33

|
3-
{A) -

|
i
(B) 3

106 52 78 AT¥ 158 W [EWWT TETTO

(Te=iew) e |
(A) 13
(8) 39
() 26
(D) 2

Q07 52, 70 307 156 T © ":g:—«q B (Yeeie)
(A) 156
(B) 312
(€) 234
(D) 468

Q108 sibwht fiiz & wian o mfhe wwn-=s
W 3 - 8 ar) faw A § ufar o
MR T 27500 < @@ w4 aaa @
(A) 27975
(B) ¥ 7.500
(C) T10312.50
(D) T9.600

TAE H] 6 o B AV Fad suge
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The difference between a 13% loss and 11%
profit while selling & toy was T 108. What
should be the selling price of the toy if the
profit camed was 12%?

(A) T 440

(B) T 480

(C) T504

(D) T 514

If 45% of & number is 135, The number is
{A) 243
(B) 275
(C) 280
(D) 300

A set of cups, when sold for T 720, led 1o a
loss of 20%. At what price should the set
have been sold 10 make a profic of 3%?

Q9

Q110

Qil

(A) X975

(B) 950

{C) TS s
(D) T935 P

A pair of trousers with a ice of Q12
T750 was sold st T uring & sale. What

was the percentage of discount that was
offered?

(A) 12

(B) 12.5

(Cy 1.5

(D) 14

What would be the interest payable on a
deposit of T 1,500 invested for four years at
8% simple interest per annum?

{A) T 500

(B)y T 480

{C) T 520

(D) T 475

Q113

el Rl Y 13% if sfe 1% @1 92
fasem w1 iz T 108 § ) AR wE @W 12%
& o fasyt g R gea @ &7

(A) T440

{B) T480

(C) T304

(D) T34

el W 1 45% SR 135 81 98 W
w ®?

(A) 243
(B) 275
(C) 280
(D) 300

T 720 & e Qv I

(D) T935

2 750 A sifea Hrw el vawd
0 T 660 W AN A A g A
wive g @

(A) 12

(B) 125

(C) 118

(D) 14

8% aiffs wenee a1 W T 1,500
H] 4 WA B &ARA TN?

(A) T 500

(B) T 480

(C) T 520

(D) T 475

Q113 Ca

C) E
(B8
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APl ED
Q121
Q117 Select the option that is related 1o the thir Q117 =% Pise w1 =74 1 o drat wg § I

term in the same way a$ the second term is weR SR 8 frd vER gER e TEe ﬁ
related 1o the first term, 0 B waRm # ~]
65:8:82:7 o 63:8:82:7 8

(A 7 (AY 7 +-

(B) 9 (B) 9 o

© 8 (€) 8 =

(D) 38 (D) 38 @

S

QI8 Scloclmcoﬂimlhasisralawdmmemird Q118 au fass ol e w6t o Ay s 8 S s
term in the same way as the socond term is gmmmmmwum QI o
related to the first serm. e 3 a2 ‘,’3_1,
Books : Knowledge :: Films 7 e ;o ¢ fen ? é

{A) Frustration (A) From : ©

(B) Entertainment (B) TR o

(C) Havoo ﬁ

on
(D) Emancipat o,

Q119 lnabou-mu.ﬂnmncnrnealmdot‘\‘m
by & 10-second MATEIN: Naman came shead
of Giagan by 12 seconds, anel Lad
ahead of Madan by 18 seconds. v

alblch

:

F

4
B3| 52K «

]
=
T &
=
Lo
=

Q120 Six friends, Lata, Mala, Neelu, Olly, Parmeet Qi20
and Qadira are sitting in a circle facing the
centre, Each person is seated exactly
opposite one friend. Qadita is sitting neither
aext to nor exactly opposite Mala or

3TBcATE
83
=
g

%,s%

1.

ﬁé

5%

BUEich BRAIE 2eb «

Parmeet, Parmeet is sitting exactly opposite qeii, o @ Nagan W i
mmduhsiningluPiuM‘ﬁinmedinc woi & qa oY i® g e é
right. Mala is sitting opposite Neelu. Olly is a4 &) o, welw @ g )
sitting to Parmeet's immediste left. Who is $ aheh @ wwrt W dE ¥ E
\ sitting opposite Olly” (A) T =
: (A) Parmeet (B) =l e2s w
(B) Lam () TR o
(C) Qadira (Dy ut & e A -
(D) Either Mala or Neelu @
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term in the same way as the second term is
HOR TEY UR WES

related to the first term.

Oral : Speak : - Aural | ?

(A) Rend

(B) Write

{C) Sing

(D) Listen

:‘:T"&;fﬁ; [;;ﬂ Q122 Ina three-legged race, Sita-Giita came shead
of Anil-Sunilf Anju-Manju came ahead of
Sona-Mona; and Luv-Kush came shead of
Sita-Gita. I Anil-Sunil were ahead of Anju-
Manju, who won the three-legged race?

?

WAPRT T £ER

(A) Luv-Kush
(B) Sona-Mona
J ameT @ 10 m: (C) AnitSunil
. Wms wedl A R (D) Sita-Gita
8 1 arE, wiee @)
E s el Q123 Seectth option that s rested o the
e g

o lerm in the same way as the sec
E } related to the first teem,
I ‘

| C
g, 0 el (
¥r g fee ‘QIN If ‘MIWISTER' can be coded as
: o=

P
= | s @ Ragd *RETSINIM", then how would you code
I a1 gl & A “PRESIDENT"?
e ; :ﬁ ® (&) sieremnED
b & men H (B) TNEDISERP
el & e A @9 (C) PREDENTSI
Ao &7 (D) TNEDIPRES

I_iOl}ﬁ In a certain code, BAD is codod as 16-1-4,
How will CAGE be coded?
a | (A) 9.1-49.25
{(B) 25-49-1-9
(C) 16-14-9
(D) 25-1-9-49

fla asa

https://utkarsh.com/student-corner/pyq

W waRa & few s g vz ged
ve & waoa #)
dftrs - ae
(A) Y
(B) Ty
(C) TN

(D) Fow

Hey - Y

Q122 v Py 219 4, whe—en sifra—gdha @
TR, SV WA @ oved Al
- Wo-Ta | owd € af
IPF-ghE sy @ it & o foe
&5 ® faow o &2

(A) Sa—mw

B) WS

Hha

MWWﬂmWW#m

e & Rw g govn 97wl
# waRT 2
§iva - ®as :  dremdy  ?
(A) HremEn
(B) o
{C) 31w
(D) wefrrTst
Q124 =R A w2 wor F MINISTER' #
‘RETSINIM® foram wer € a) ang
‘PRESIDENT" & war fayai?
(A) SIPRETNED
(B) TNEDISERP
(C) PREDENTSI
(D) TNEDIPRES
Q125 S Pitwa a wiwr 4 BAD ST 16-14 21
far wwen &1 CAGE @t #5a s g
(A) 9-1-49-25
(B) 25.49.1-9
(C) 16-1-4-9
(D) 25-1-9-49

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

llelld:}

o)

b Y

siaded 3sa1 [9PON «
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g
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Q126 In a certain code language, THANKS is
coded as SKNTHA. How will REGRET be
coded?

(A) REGTER
(B) GERRET
(C) TERREG
(D) TRREEG

Q127 Select the option that s reluted to the third
term in the same way s the second term is
related to the first 1erm
16:264::227
(A) 220
(B) 440
(C) 284
(D) 495

Q128 Pis the sisterof Q, R i the fatherof Pand S

(C) Grand
(D) Mother

Q129 Durgai 's ifle. Dubgl's som,

Vijay has two sis Shattitl and Malini.
Shalint's hu Murugendran has 2 som,

Shivam. How 15 Shivam yelated to Bhanu
Pratop?

(A) Son-in-law

(B) Son

(C) Grandson

(D) Nephew

Q130 Manishis Garima's husband. Puresh’s wiie,
Nalini has & brother, Jignesh and o sister,
Garima. How is Jignesh related to Manish?
(A) Father-m-law
(B) Beother
(C) Son-in-law

is the mother of R. How is S related !
(A) Grandfather
(B) Granddaughter

Q126 tw fiftad me w1 H THANKS F
SKNTHA #7@ fsa smon 81 REGRET #t
gt | -1
(A) REGTER
(B) GERRET
(C) TERREG
(D) TRREEG

0127 @0 Rew m T 1 ot Jrel ue ¥ 9
gt i # A wER TE S qed
qg o Ham 5
16:264::227
(A) 220
(B) 440
(C) 284

X L {Emé-sms.kﬂ
5,0 Mm sinioa #7 i~
S
o
(€) T
()

Q129 7, w7 wemy = aeh & 1 gt @ 32, fqure
B @ awd, wiwh e wfeh 8 e
3 ufy et 1 O e, FEe 8 ) ft
wrg wam # e R Hafer &7
(A) T
(B) 94
() -
(D) Ao

Q130 it e @t i 3| ey o, e

o1 o wd, e R g 9, 1oy &4
Sy e & Fra waR wdfm 27

{(A) TR .
(B) e

{C) <8 '
(D) w5 \

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

BUESIch RROIE 3eh «
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I THANKS #) QI3 Inthe if.}!ln-.unw.\%lmmagrum.whu:h number Q131 Pr=ifafim & w1y i s Hear wa
n A _ best represents Indian ceop which is 3 ceresl WL SuE Pt CHR & o e 2
| REGRET &1 but not rarc?

AT gy =l 8

/é -
g o W 2

s\ T
t v A L I _f/ _y
I &0 9T 9FA _______ i
Dw Cj(-nd
O -

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

tl')l i

Bl 27 0132 “hnchulﬂ!cfuibwmgnumbewr i f‘llai T8 a% & e wr
dingram shows the colorful singing ‘b WAL N il o zeied ¢

P @ 92
o 8 wmied A
Foras &1 fm

i 1 O-y
Fm §7

(A) (8 6

-. <7 (D) 2 ()

|

W33 Which of the following options best suits the
ollowing Vern disgram?

(A) § 8) 4 % (B) 4
C) 7 (D 3
E® afiw S, R

llelld:}

o)

Hedf - U, AR, TAPRT 9 56R
B2 S2K] «

3B elTEA

(B) 6
) 2

—
-

4 -

- s

BUESIch RROIE 3eh «

Q133 Feifafay é?ﬁr?ﬂf&'ﬁﬁﬁ%ﬁﬁm
a-"xm?&a*fﬁwumma?

e e @ @

o 87 (A) Metal, sodium, fucrine (A) Wiy, Wiz, ot
(B) Thyroid gland, pituitary gland, (B) wrroeaRy dqy 1fy smm® g%y
endocrine gland (C) =rar Ry, 93
(C) Grandfather, father, son (D) wren, wam U, TG
(D) Inctin, Uttar Pradesh, Lucknow

siaded 3sa1 [9PON «



https://utkarsh.com/student-corner/pyq

V5 https://utkarsh.com/student-corner/pyq saTaTa e

UTKARSH

—CLASSES—
E-ﬂ

g
<
Y
u_;’i:‘j
2
§
2
B3| S21) «

"".Wﬂﬂrmﬂﬂm‘mqm 3
Q134 Whichof the follow ing numbers in the Verm Q134 ;m ek
i ts the soft- hearted teacher? : e ﬁ
diagram represen 5
N
Qo
1 6 ?
1 1 ; ;
A PR 4 S
LL——— %
o
; A 5
o [ sotrmenms §
. [[] sonteee i .
O Towtae :
: {A) 2 (B) 4 ©
(A) 2 GB.) ‘i o g g
)5 Dy 35 |
48 R i P o A e TN o,
~ 0135 Which of the following numbers 10 the Venn o, iyl .
“ dingram shows the wicked black cat?
T/ ] :
b
' B |
Ifll‘ -; || -
' L — ﬁf‘:—l | /\ Biack ;
E / \%;lf ~ O on

g/

(A) 1

(B 2

L <y 3
(D) 4 g:

o136 Pesisa L G i A i & 9

()

. /

0136 Find the odd figure from among the & é
k‘uo“lms; | ‘ (I ."5]‘—.\ g-
- . o ¥ | \ _,1 =& '. g
R wif@)! {A) ] {8 o 2

\ .', i : _
| ".L\ ‘B) oy 3
(A) ..V,I L-! ; e t
- - iy - 3
. :i L! O) (C) * gy (D) o R g
{$H— o (o~ i :

v |-J
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fi s woRg

------- T VR UUSS IO E DEIORE With the
others?

(A) Graph

(B) Bar graph

{C) Histogram

(D) Monograph

Q138 | Ideatify the odd one out from these alphabets;

(A) A
(B) F
() E
D)z

139 Identify the odd one out from these four

o
figures,
| s TARd)
> ANJO
" A ] c )
E’ 7 Wicked e a
{8B) B
1\ Black ) C
E B cut | D) !)Q
P8 identify the ¥ thw: four
’ .
o @ e K"
A : < D
:g_;j.‘;ul (A) A
[ {B) B
{C) C
(DyD

QI37 o W v = e § B &7
(A) U1
(B) ¥R
(C) o
(D) v

Q138 Fyifaritan xamt # 3 aeirg @ TEHE o

{A) A
(B F
) E
Dy 7

Q139 & 7¢ W wplvdi A @ s B qea

Q140 @ 73 AR wrpRvdt % A s o) qwam
& |

2

(A) A
(B) B
(C) C
(D

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

alblchH

o)

b Y
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QL41 TH-nQWg g 2o
—

L

following :
w Y Y

() [:1:_3,/_‘) (C) LE;_‘B
A

o N ' CRNE 5

J
Ql41 Find the odd figure from among the

T

Q142 (). (b), (e} () site () @ sifta di9 et

|2 th ¢R [l ¢p S3SIN0J 3UIUQ +00ZL ot

)
0142 Out of the five letters marked (a), (b}, (c) )
(d) and (<), four are similar in a certain i g R ity um ¥ ¢ BTl
: manner, However, ong letter & not like the q dreyr 6] & | W SR W
other four. Choose the letier which is 3 = B ]
L different from the rest. ¥ Y %
> Y (¥ |2 |A ¢
® @ @ (e} v
W m (@ e %M
1 {A) B 6 (B) a
(B) 0 6 (€) ¢ gz
¢ P D) e
(, . .
0143 Out of lcﬂers marked (1), (b), () Q143 (a). (), () (@) 3R (o) B S i g’
= (d) and (€), Tour are similar in a certain # 7 W A iR o F9E §1 g
manner. However, one letier 15 nol like the v AR WR I 81 & | 99 WER B
other four, Choose the letter which is o sl @ B R
different from the rest. g
s(tlulv|w - i ST :
w M & @ (A) ¢ =
{A) ¢ (B) ¢ a
(B) ¢ (C) ¢ 5'
(©) e (D) & a
(D) o >
S
0
=
w
SET-64
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sequence. Select the choice from the answer gt # 99 Wl W o w5 F@
figures that continues the sequence. g% % @ and) vl
Problem Figure: W g ﬁ
]
o
(:?\/ (;?\/ =
D
Answer Figure: awn R ol
m
o
0))]
o
H
= 8
il A 8 c D A B c D o
| sl ﬂ
A
(B) B { .
 C %
(.

Dy D (D /

V)l%ﬂ%?ﬁ"wmmiﬁmﬁﬁ
> [z 3:{e0: ?

J. per [ ] ]

b Y

B3|k 52K «

ﬂzﬁa’luggazrg?mmasiﬂ?

¢
[ i wed

2 Ereltf / (A)
E R o E""J (A) @/ :
)

BUESIch RROIE 3eh «

) (B)
W (B) @)

)

— (D)

@
©@®@
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- “Sa &
T AT X
_ e 3
= :
— —¥—— g
B s o
+
Aswuc ‘prr ST SEER o
=2
T 4 \, . 7 >
V4D B vdivd A
o
- L] L L ] . L] L - L] _C_
LA A (A) A §
s B B B sy
=) C (C) C g
(]
an D (D ;(H
Fd the correet mivor wmage of the given Q149 7 g T9ur wffde smw & i
sl

llelld:}

o)

b Y

@
.
B3|k 52K «

(D) J_;-)
\

Select the correct image thar will appear in Q130 wwfse & s e Arpil 1 TEAF B

place of question murk: e : : = |
q 0i+m-[]|:@::ﬂ'V+Jg|=;?

i)

BUESIch RROIE 3eh «

| f-! : v
O [0 ®): A V4ol :
&
7
e, AR =
et T (A) \_f /? (B) \@s/ ]
WA\ /S @\ LN ] : o
\ / C
- A AN =

A~ SIS o \& 7 o (V)
e -’1 ~ { '.H-"\' I! '\____J"H \ ""‘:{/a
©\& / O\

S
.
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